SuMPO SUMPO EPD SuMPORIESAILTOTF s

E P D _ — A FEAY AT T IR = HEERAE
EPD 517 IEEEES (EPD) BRI ARE-145
VERIFIED KANDA SQUARE GATE

B#ES © JR-AI-25430E https://ecoleaf-label.jp

FUJIHILM

Value from Innovation

BEOAWVL EVRZX A/NR-Va R E’
FUJIFILM Business Innovation Corp.

A3 hS—EEH
A3 Color Multifunction Printer

3 Apeos C3060 (Model-CPS-B)
(for US)

FUJIFILM

Apeos. Apeos 00, ApeosPro. ApeosPort . B&U ApeosPrint (&, ELIMIVAEIRZAA INR—S KRS OB HREIEFAEIZETT,

HEHNL ERES JR-AI-25430E
P EFAPCRES  pPA-590000-Al-08
PCR#% G N PAL;: 21
HE X SRR NEGS! 2026238 13H
5387 O] eh R Bt RIEEEE 202642/ 24
OREMEERE QEE Q@B OfEF - REEA VAT LEREAEA
®FEE- Y1 RAES 2025-FB-EL-098

HBEEE#hEAR 2031428 23H
PCRLEI-DEE
ZEHZ 2023498 1H

HEoRN, TEMEKR-FET
itk : Apeos C3060 (Model-CPS-B)

FEMARR N5-EEH EPAR)

ENRIZRE : £/70 30ppm (A4 LEF)
715- 30ppm (A4 LEF)

BRAREEYAZX 1 A3, 11x17"

FUY/AC-/AFVY
T EN R BE/ADF(R TS B Bh5tiA &)

ZER i B2

(PR — A EE A AT T IR SR )
E=ERAE BE ST
S EBIREES

ISO14025(CE 1A E B R U7 -5 DIMILLIAREE

O ER WA
VAT LRAEZ I B EAORIEDH A, YATLRIETLEEED
ZRTEE

BMuahth BEIAMIAESRRASINR—>3 VR

EEMAX AR EHFSUV6THIE
https://www.fujifilm.com/fb/

E85EFS ¢ JR-AI-25430E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

1 IWEPD

EiES JR-AI-25430E

SuMPO EPD
F1TNBEEEE (EPD)

SUMPORRIESANITOY I L
— AR AT AT F IR B
HRETFREXASHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label jp

PP Z ST

FREESE | WERE | oBSE ﬁ’?ﬁ'ﬁffﬁ BB
[URZEE) - &5 kg-COzeq 4.72E+02 2.63E+01 1.05E+02 1.92E+02 7.99E+01
IV BHIE kg-CFC-11eq |  4.00E-05 4.28E-08 1.73E-08 4.99E-06 9.91E-09
EREL kg-PO43-eq 9.95E-03 1.03E-03 8.21E-05 6.46E-03 9.15E-05
AL kg-SO:zeq 1.37E+00 1.73E-01 1.24E-01 6.97E-01 7.91E-02
HALBEAFII kg-CzHaeq 9.87E-03 3.15E-05 8.30E-04 1.81E-03 6.61E-04

F1TY1 71 IRY IS RESEER

—REROERCETBIE1R

FRERIFAERR | BLEERE IR ER R 2 EQ;: 5 BB RS
BAEAHE—RER - IRIF- (RPRy) MJ 1.04E+03 2.19E+02 4.71E+00 6.91E+02 3.01E+01
BAARE—REE - IRLX-2BHE (RPRy) M) 1.03E+01 3.66E-03 1.09E+02 6.62E+02 6.58E-03
FEBLTRE—RENR - TRILF— (NRPRy) M) 7.85E+03 8.97E+02 1.17E+03 3.81E+03 4.04E+02
EEETRE—REE - IRLE-2EHE (NRPRy) M) 1.05E+03 2.78E-01 2.66E+00 3.81E+02 6.36E-02
KKODEEE m? 2.71E+00 2.27E-02 1.15E+01 7.00E+01 5.77E-03
EEHEEICEATZEMER
KEEAEFEELTEELELE,

EEHEPAR)DIZEYFUATEELTVET,
B GO E FERERISSER T,
-ER - R CB IR AROBR EEENERA,
FEABOEN. IRIF-AT-T0YTLVer3.2 HH#(TRA>TAELETECEEZTICEELELE,
B E ENRIAEL (S, 135,0000TF,
1/4 x 30 (J37/8) x 15(1%) x 5 (B) x4 (B) x 12 (7 B) x 5 (£F) = 135,000%%

ZOfthDIRIZREIE R

CIRNF-RF-TOY5LVer3.2 EE

HRB SRS SRS
El-ME (ERAFHS) Bifig CAS No.
EEpki] 27 kg - -
Sus 0.20 kg - - -
TIVIZUL 14 kg
ZOMtER 56 kg EALEZRT-590Z X5
TFIAFYY 27 kg FEAIE, LCIT -5 N-RIDEA Ver3.4, SUMPORESNINTOYS L& 57T -5
A 038 kg Ver.1.16ZERALTNET,
A3 1.8 kg
A 6.0 kg e
LA EEAR 1.8 kg -
TR 3.1 kg
Z0ft 26 kg

OT-FHEENDH L. PCRELUVEE - EERBESRBLTLEN,
OLLEKIIOVWTE, BE - EERBICHEINLFGEH LSS LLAT
(BHR5URL : https://ecoleaf-label jp/regulation/)

DHONEEA,


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

